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(1127 SARDAR PATEL UNIVERSITY
B.S.W SEMESTER-VI
GENERAL ENGLISH — UAO6FBSW10

Date: March 26, 2018 Monday : Time: 02:00 PM To 05:00 PM
Note: 1. Attempt all questions. Lo

2. Figures to the right indicﬁte the full marks. . - Marks: 70

Q.1 Attempt any eight of the following questions. - - ERT (16)

How did Sher Singh carry Kunwar through the jungle?

How has Science enlarged the mechanism of war? -

How did Sher Singh cross the second river? .. S

Does Bronowski consider Science responsible for war?

What is the defect which the author finds in cherry?

How can one have the perfect vision of Truth?

Why does the author call strawberry an overrated fruit?

What is the greatest obstacle in the way of self-purification?

How can a poor man lead the life of happiness?

0. How does the author define the art of living? Is it inborn ot can it be
acquired?
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Q.2 Attempt any four of the following short notes. (20)
1. Sher Singh’s experiences in the forest
2. The central idea ‘Science and War’
3. Point out the qualities of various fruits as provided in ‘Golden Fruit’
4. The characteristics of Truth as enumerated in *Three Steps towards
Truth’ '
5. The author’s views on art of living

Q.3 Write a paragraph on any one of the following, - (10)
1. My favourite author
2. Global Warming
3. Life as College Student

Q.4 Write a précis of the following passage. (10)

One of the major problems we have to face is that of unemployment. It is a big
problem, a human problem, which we cannot ignore. Yet in looking at it, it has
to be remembered that merely giving some kind of occupation to a large number
of people does not ultimately increase employment or lessen unemployment,
Employment comes from newer and more effective means of wealth production.
The whole experience and history of the past 200 years shows that it comes
through the growth of technological methods. Do not imagine that we can
effectively deal with the problem of unemployment without technological
progress. We cannot. Every country which boasts of full employment today is a
country which is technologically advanced. Every country which is not
technologically advanced has unemployment or under employment. Therefore, if
India is to advance, she must advance in science and technology. The fact is that
our poverty is due to our backwardness in science and technology. If we remedy
the backwardness we create not only wealth but also employment,
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Q.5 (A)Change into indirect form of speech. (Any five) _ (0S)

1. The teacher says, “Ram is an intelligent boy.”
2. Dr Rao says, “Women empowerment is essential in the present day
context.”
3, Mother said, “Geeta is very obedient.”
4. Dr Sharma said, “Ram has done an excellent job in word-processmg
5, He said, “My younger brother wants to be an L.A.S. officer.”
6. Mini said, “I am painting a natural scenery,”
7. The children said, “We are waiting for the school bus.”: . =©
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(B) What is planning presentauon? Dlscuss 1ts methods

"OR -
Discuss the structure of presentation.
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